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CROISEUR REMAN
<p rerniére .classe>
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DESTROYER REMAN
(deuxième cla.sse>
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Les flèches ~
indiquent le ~

*...
-..------ bouclier au : p.,

.. " travers duquel ,
... "" l'arme fait feu.1 f;i1p:::

L'arc de tir : ~
i.e.: 60 degrés,. ~
120 degrés, ' p.,
180 degrés, etc.' 25

'u

Masse: 1 ... 0
R~thMe de Virage:
1So/unité teMPorelle
Capacite( du .
Transporteur: 1
ArMeMent:

4J Lasers MO".:jens
1 Torpille

protoplasMique
1 Voile

Puissance:
'Réacteurs: 26
Piles: 6 ~

5 Equipès d'Abordage w

Hasse: 1 ... 0
RgthMe de Virage:
23°/unitè teMPorelle
Capacité du
Transpor telL.lr : , 1
ArMeMent:

1 Torpille
prot.op laSMiqlL.'e

1 Voile
Puissance:

Réact.eurs: 6
Piles: 6

S Equipes d'Abordage

Laser moyen M
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